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Run 5007 quartetwise, Asyms0 (Raw): All
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Entries 578
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Run 5007 quartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 5007 quartetwise, Asyms0 (Raw): Beam OFF

|||'|I|J|-||||I||||I||||I||||I||||

quarebwise_bsamd asyrb

Entries 578
Mean 0.05246
Std Dew £5.813

-15

-10

-5

0

5

| | |’J-l|_| L1
10 15

gHelNSamples0)|PosHelAceO/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 0.000000)

Run 5007 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Run 5007 quartetwise, Difts0: All
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Run 5007 quartetwise, Diffs0: Beam OFF

Ul

quartetwiss_k=am0_difio

Enlries 578
Mean 00004532
Sid Dav 004761

L.

-0.1

-0.05

0

0.05

0.1
PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSampleso
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Run 5007 quartetwise, NegHelAccO/NSamples0: All
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Run 5007 quartetwise, NegHelAccl/NSamplesl: Beam ON, Laser ON
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Run 5007 quartetwise, NegHelAccO/NSamples(: Beam OFF
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Run 5007 quartetwise, NegHelAccO/NSamples0: Bearm OM, Laser OFF
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Run 5007 quartetwise, PosHelAccO/NSamplesC: All
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Run 5007 quartetwise, PosHelAccO/NSamples0: Beam ON, Laser ON
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Run 5007 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 5007 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF

guamnshwiza boami lasl posHEo
Entries 0
Mean 0
Std Dev 0




Run 5007 quartetwise, Sums0: All
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Run 5007 quartetwise, Sums0: Beam ON, Laser ON
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Run 5007 quartetwise, Sums0: Beam OFF
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